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EEAIEE 5,802, 891
AEE 5,428,478
EEAGER 5,428,478
ERETE %% 1 136, 080
LAY [ 1 50, 850
PRETEE [ 1 45, 750
HRBMARTS [ 1 50, 850
mith s %% 1 207,900 0.5
NP0 RS m 14000 105,105 | 0.5
IHDBEREEFEDRE m 14000 135,135 | 0.5
HEFIETHERRE (A1) m 14000 135,135 | 0.5
PRFEZE SRR m 14000 50, 050
BRER m 14000 487,200 0.5
THIE R SRS m 14000 180,180 | 0.5
HPAEQDRE m 14000 342,384 0.5
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HRAE (B m 14000 599,172 | 0.5

RtIEFRMERE m 2000 45,354 | 0.5

ERFTE () m 14000 547,932 | 0.5

ARARE (FER) m 14000 255, 892

At FER m 14000 123, 060

TEFAEER m 2000 19,305 | 0.5

HiERE RIS m 14000 97,356 | 0.5
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TR EEERL m 14000 825,825 | 0.5
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HimEE = 1 56, 763
RE - XEBEE = 1 30, 399
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REEEE = 1 117,136
MElEE 4,067,109
EREE 4,067,109
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EREEMRE (B) B 1 ,029,276 = 600LL_E 1000
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EXICEHY SHE E = 3 1 381,156 0.8
BEEICEYT SHE i 5 42, 460
BISRE (BERME) HH 5 117,720
BithEE (BEE) EFE 1 13, 546
REEZMA (BETE) B 1 86, 774 | 200LL L300k
REEMB (BETE) B 1 76,134 | 200LL £300K
KEEMC (BERE) B 1 75,006 = 200LL LE300K
FREEMA (BEE) B 1 147,088 | 200LA_E400K
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WITHEY (BERE) AT 1 29,472
BEGMHE (BEE) HH 4 94,176
Wi E (L) %% 1 86, 508
IR - REMEEF % 1 576,840 1
REMMREE FAE 1 254,670
ER1G3h L SRR R Eiith 50 604, 479
EMAEE R EER B ih 50 328, 155
HERE (BXAL) EXE 1 26, 896
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